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Basic Geometry A

Activity 1-6 cumulative Review
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1)  Find x if LVWm  = x + 100, 
UVWm  = 161°, and UVLm  = x + 77.

 

W

L

U V

A)  -8 B)  -3

C)  9 D)  -4

2)  KLEm  = 54°, ELMm  = 61x - 1, 
and KLMm  = 86x + 3.  Find x.
 

M

E

K

L

A)  8 B)  -2

C)  -8 D)  2

3)  Find WVIm  if WVUm  = 176°
and IVUm  = 66°.
 

U

I

W

V

A)  132° B)  135°
C)  138° D)  110°

Find the length indicated.

4)  Find DB

E B
D C

14

20

7

A)  7 B)  13

C)  10 D)  None of these

5)  Find FG
E H

F G

25

16

13

A)  4 B)  36

C)  3 D)  6

Solve for x.

6)  R T
S

5x + 2 12

11x + 2

A)  1 B)  None of these
C)  -10 D)  -5

7)  G I
H

11 2x + 5

8x - 2

A)  10 B)  3
C)  -8 D)  -4
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8)  

30°

x + 66

A)  6 B)  -7

C)  None of these D)  -6

Find the measure of each angle indicated.

9)  

60°

80°

 ? 

A)  38° B)  35°
C)  32° D)  40°

10)  

T
D

50°30°

?

UV

A)  80° B)  None of these
C)  87° D)  77°

Solve for x.

11)  

F

Y

1 + 11x

8x + 9 25°
ED

A)  11 B)  7
C)  None of these D)  2

12)  

S
H15x + 3

7x + 8

75°
T

U

A)  10 B)  6
C)  2 D)  9

Find the value of x.

13)  

130°
x

A)  23° B)  26°
C)  22° D)  25°

14)  

60°

x

A)  57° B)  78°
C)  51° D)  None of these
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15)  

67°

x

A)  57° B)  37°
C)  46° D)  49°

16)  2m  = 5x
 

120° 2

A)  -11 B)  6
C)  -6 D)  None of these

17)  2m  = 6x - 10
 

80° 2

A)  11 B)  9
C)  10 D)  6

Order the sides of each triangle from shortest
to longest.

18)  

D

E

F
50°

50°

80°

A)  EF  and DF ; DE
B)  None of these
C)  EF  and DE ; DF
D)  DE , EF , DF

Order the angles in each triangle from smallest to largest.

19)  
12

1513

Z Y

X

A)  Y, X, Z
B)  X, Y, Z
C)  Z, Y, X
D)  None of these

Each figure shows a triangle with one of its angle bisectors.

20)  Find 2m  if SQRm  = 104°.
 

Q

R SP

12

A)  52° B)  104°
C)  None of these D)  26°

21)  1m  = 16°.  Find WUVm .
 

U

V

W

P

1
2

A)  48° B)  16°
C)  32° D)  None of these
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22)  2m  = 3x - 8 and CABm  = 4x + 2.
Find x.
 

A

B

C

P

1
2

A)  9 B)  2
C)  5 D)  4

23)  Find x if 1m  = 53x - 1 and 
2m  = 52x.

 
S

R

Q

P

1
2

A)  2 B)  8
C)  10 D)  1

Find the distance between each pair of points.  Round your answer to the nearest tenth, if
necessary.

24)  (3, 2),  (-6, 4)
A)  3.3 B)  9.2

C)  6.7 D)  14.3

25)  (4, 6),  (8, 4)
A)  None of these B)  4.5

C)  15.6 D)  2.4

Identify each pair of angles as corresponding, alternate interior, alternate exterior, co-interior,
vertical, or adjacent.

26)  

y

x

A)  corresponding
B)  alternate exterior
C)  alternate interior
D)  co-interior

27)  

y

x

A)  None of these
B)  alternate exterior
C)  corresponding
D)  co-interior

28)  

y

x

A)  corresponding
B)  co-interior
C)  alternate interior
D)  alternate exterior

29)  

y

x

A)  corresponding
B)  alternate interior
C)  alternate exterior
D)  co-interior
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Solve for x.

30)  

95°

x + 106

A)  7 B)  6
C)  None of these D)  -11

31)  

x + 127x + 67

A)  -3 B)  -8

C)  -7 D)  8

32)  

92 + x

96°

A)  7 B)  -8

C)  6 D)  2

33)  

9x + 11

74°

A)  None of these B)  7
C)  3 D)  -4

Find the slope of the line through each pair of points.

34)  (-5, -18), (-13, -16)
A)  -4 B)  None of these

C)  
1

4
D)  -

1

4

35)  (16, -19), (-13, -7)

A)  None of these B)  
29

12

C)  -
12

29
D)  

12

29

Find the slope of a line parallel to each given line.

36)  6x - y = -1

A)  -6 B)  
1

6

C)  -
1

6
D)  6

37)  2x + 3y = -12

A)  -
3

2
B)  -

2

3

C)  None of these D)  
2

3

Find the slope of a line perpendicular to each given line.

38)  3x - 5y = -5

A)  -
5

3
B)  -

3

5

C)  
5

3
D)  

3

5

39)  2x - y = -4

A)  2 B)  None of these

C)  
1

2
D)  -

1

2


